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GENERAL MATHEMATICS
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Candidates shall note that each question will be multilingual, viz., in
English/Assamese/Bengali/Bodo/Hindi Medium, for their ready reference. In case of any
discrepancy or confusion in the medium/fversion, the English version will be considered as
the authentic version.

The figures in the margin indicate full marks for the questions.
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(2)
SECTION - A/% - N1/ & - M4t/ - st/ - A

Chotise the corfect answer

BT Sen Ik Sfersdt:
B% SEAb @R 713
W fipaaraa) aga = fog -
TR
/:/Nhjch of the following is an irrational number ?
: SR (BT AL JAICIT 2
fqare @m Tl Sefaem?
MR We i ety ?
Frafafga ¥ @ ¥ @ den anfig gen 22
(a) 0.142857142857142857 ......... (b) %
V4
€@ = , @ 7
/Aonsider the following pairs of linear equations : 1
() 2x-3y=8, 4x—6y=9
(i) 2x+3y—9=0, 4x+6y—18=0
Choose the correct alternative :
(a) The pair in (i) has no solution, whereas the pair in (ii) has unique solution.
(b) The pair in (1) has infinitely many solutions, whereas the pair in (ii) has no solution.
(¢) The pairs in (i) and (ii) have no solutions.
(d) The pair in (i) has no solution, whereas the pair in (ii) has infinitely many solutions.
©eq (S TSI @EED! s 4T
() 2x-3y=8, 4x-6y=9
(i) 2x+3y—-9=0, 4x+6y-18=0
a5 g 3y Sfedt:
(@) (i) WS ST A3, Y (i) WRTER JEOR i g |
(b) (i) WHEER ST Fewrs T Hirx, B8 (i) WHE T 7%
() (i) S (if) T AR, AN 71X |
() (i) CIIRTER ST Ay, TR (ii) CUACHIE SO e ST S1re |
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(3)

S —— A ]
() 2r—3y=8 4xr-6y=7
() 2x+3y-9=0, 4x+6Y~
8% ot @ 18 : )
(a) (mﬁwﬁ%u)mwﬁﬂwmu

(v) )wﬁwﬂmw"m”mﬁ@mmwm&l
(c) (i) 932 (ii) memﬁl

18=0

) ()mfﬁwwmﬂﬁ 8 (i) TSI S srewrs smwra

TRt ihontt g T T el
(i) 2x-3y=8, 4x-6y=9
() 2x+3y-9=0, dx+6y- -18=0
T4 @ arga 1 g |
(2) (i) uf TG a1, o (i) 1 T T e €
(b) (i) 5uf Shaend dfe A TR <, U (i) 5t g dan
(© (i) Y (i) Hrerire R AEHeE
(d) (i) rufr e fan, T (i) 9 SR e dei g €1
for=t Yfige writel ¥ g W M AT
() 2x-3y=8, 4x-6y=9
(i) 2x+3y-9=0, 4x+6y—18=0
w# 9= F g :
() W () T HYE T T, FE I (i) FT TF el & ¥
(b) T (i) & I T &, Al I (i) A WS € T
(c) T (i) 3 (ii) AN + HE & 7
(d) ¥ ()T HE T T T9F g (i) F 59 €@ €

‘3./’B1e product of the zeroes of 3x2+ 11x~2 is :
3x2+11x =2 5 G0 4T
3x2+11x—-2 -93 I gfoa oqergey
322 +11x—2 1 wfer’ 293 aremEm-
3x2+ 11x—2 % YH 1 A% 2y -

2
@ 3 CHEE O 3 @ -
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(4)

!/fhe 26th term of the AP0, -4, -8 ~12, . . .
----------- is:
0, -4, -8 =12, coreeren.. JAHKES ﬁﬁff\aﬁ‘m 26-By RGE

0, -4, =8 =12, e, ATBI Asifisiig 26-BY o 5T -
0, —4, -8, =12, . AT SMfAfy 26 iy —
AP, -4, -8, =12, . 'ﬂ?_biﬁ"ﬂrqﬁnn:
(a) 96 (b)  -100 () -104 (d) -108
Let ABC be a triangle such that AB= (x—1) cm, AC=2Vx cm, BC=(x+1) cm. Then: 1
@) A=90 ® Boor
(c) C=90° (d) none of these
ABC fogs® AB=(x—-1) cm, AC=2Vx cm, BC=(x+1) cm| (SZ'T :
(a) A=90° ® B=90°
€©) C=90° (d) «irares qbre 7
ABC fagtsd AB=(x—1) cm, AC=2Vx cm, BC=(x+1) cm | B :
(@) A=90° (b) B=90°
() C=90° (d) B 9FTS 7
ABC sm@fgemfi AB=(x—1) cm, AC=2Vx cm, BC = (x+1) cm 3= :
(a) A=90° ®) B=90°
() C=90° (d) SERF BFEal TET
AABC #, AB=(r—1) cm, AC=2Vx cm 3R BC=(x+1) cm ¥,  :
(a) A=90° (b) B=9%50°
) C=90° (d) 7 QP it
6. e point (x, y) is equidistant from the points (7, 1) and (3, 5). Then: 1

(x, ) REET (7, 1) @1 (3, 5) Ry et SRS | (SR
(x, y) R%f5 (7, 1) @32 (3, 5) g b SEEST | ST -

(x, y) fasn (7, 1) R (3, 5) fored) FFARISHA TOT SRR | et -
fiig (x, y) Foigatl (7, 1) 3¥R (3, 5) @ wgEed &1 A :

(@) x+y=2 () —x+y=2
() x-y=2 (d —x-y=2
7. Bcosec?A—8cot?A=7 1
(@) 0 ® 1 () 8 {d) 16
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(5)

8. A Tower stands vertically on the ground. From a point on the ground, whjch‘ is 15 r:jl 1
©away trom the foot of the toweT, the angle of elevation of the top of the tower 15 foun

o be MY The height of the tower 15

plie QU ¢ Semeltg Ay 1 B2 mmmwﬁ:ﬁaw'@ﬁﬁw‘m
fayama sgia Mffaga S5+ @19 30° 111 2’4 | SR SHol T !

ofico wafl 88 Sewsira FE SR seft sy (e 15 W g e N
a4l favy e @efGa Atfeaa B89 @19 30° g (o Ssfa Tool 2
TEMAR T/ TE G TEA € mﬁgﬁﬁmlsmmwmw
BT T 2Tt fafa i S @ e 30° S e | ZRRE e S
Tl T O WA S @ R ot 5 o fig A, < R 36 g R 15 m T, AR
¥ forgR &1 oA S 300 3| AR AR FeEE R

(a) 5V3m (b) 15V3 m (¢ 15m @ HF

;Q/Mch of the following statements is correct ?
(b) All squares are similar.

(a) Al circles are congruent.
(c) All isosceles triangles are similar. (d) All rectangles are congruent.

59 (A SFF 8% ?

(a) SFERER I FOW | (b) SHCANIE I51X AP |
() @R sz fagrse | (d) AR WS TN |
frore @W i@t 8% 7

(a) SRBE @R AW (b) RS IR AP
(© R miaarg fageR 7T (d) RS TSR I |
merafa Wi s A4 ?

(a) TS @A MR |

(b) T¥E e B |

(0 TR e sEfer st T |

(d) T ST T |

frfafea R o fawd € ?

(2) it @ watmem 83 €

b) @it I e A €

(© = galEER P wrEe da €

(d) @it 3 watTEn e ¥
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(6)

sector is :

W@Gm%ﬁﬁf@%mﬁﬁll SR g —

qafba c@rw A DS TGN A1 0 1 qompenfyg e siTeta TS

dgf freara @ el a0 1 S@RF iy sireenfy AR

v fereht 7 & FR T T I F R W 0 3, s 3 W 19 B oA @t

il Owr Or bmr
@ 5o ®) T80 © S5 (d) 360

Where r is the radius of the circle.
'S r T SR A |
Wrﬁﬂ@mﬁ AT |

I ¢ 3 A G T w@E )
TRl r g9 &I e ¥

/m/—The degree measure of the angle at the centre of 4 circle is 0. The length of an arc of the 1

y.en‘bes each of volume 64 cm? are joined end to end. The surface area of the resulting 1
cuboid is :
TS JTSA 64 cm RFIR 40T 97 0T qra w2t 391 LAl BIToR BRI B'e
ATONDT Ao 64 cmd [AFE JfT 97 et osfemm sewast sar xeen, Gerfia

V]’@ﬁl"lﬁﬂ?!‘f:

THTRETT TR 64 cmd T B9 ! Safasl Safy wEsEaE SE[ |- dnfaaa

IR T fag Secmsfaan S

A A fad | wlF F WIT 64 cm? R, F T Ferdhl H et o 9 swmn i ¥

TR VI S H TS A @

(a) 48 cm? (b) 64 cm? () 80 cm? (d) 160 cm?
//The,sum of the probabilities of all the elementary events of an experiment is : 1

aBY S ST e QBT SIfFe AW e

@G T ST A ThA TSI MR e

AT SRR T Tf ST S SR S

ot el o ot wRf weel A wifaaen Fdm ¥

(@ 1 ®) 1.25 () 15 (d) 2
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(7)

“ SECHON'B/,J'WI"W/E-WWH—W

13. Find the HCF and LCM of 6, 72;11}320 using the prime factorisation method. Is the
 product of the numbers equal to the Product of HCF and LCM ?

/ e Bestmftaad Ao 6, 72 120 I UMY, wie qon.. Shredt | ALDIRDE

oFIT, o141, -7 EES AT 2T 7

dfers Seamiiead Aafors 6,72, 120 - 51913, 932 a.41.8. @@ F@I ALBISER
AT, .59, €ag @.A.8. 4 TATETAT T §t 2

e T Fafra sTeas 6,72 IR 120 2, a1 w1, g, a0, w0, fag | FATIRRE
AT 2, o, o1 o g 3. W AT e wh

@ 6, 72 3R 120 %1 arvea TorEeE fafY gR1 HCF st LoM s wif ) @@ wemstl &
TorhT HCE 3R LCM & Torwel & T &2

14. 5 and 7 pens together cost ¥ 50, whereas 7 pencils and 5 pens together cost
7 46. Find the cost of one pencil and that of one pen.
5 Gter (otfiget =% 751 FeTHd 7 QTFEC 50 Gt, SRITeT 7 BT (AifdesT SIi® 501 FeTHE

WY QIFEA0! 46 TR | QBT coifenet 1@ BT FemR Wi e ?

5 fo mﬁaaasﬁwamwsoﬁm,mﬁwﬁcﬁame 5f6 weva
QT YT 46 D11 QT (A @ae PG FTE YT T 7

ﬁs%ﬂﬁ@dﬁﬁaﬁma@mﬁ;wwﬁﬂﬁammmﬁﬂ
T T 46 T T3 AfTe AR TR Wi S8 A ?

Sﬁﬁﬁm?mﬂﬁW?So%,aﬁﬁ?ﬁﬁaﬂmfﬁﬁlﬁmgﬁ{ﬁ?% N &
et o YT 991 Th e F e FH Fife

P/ﬂow many two-digit numbers are divisible by 57
qB1 SIeRIFTE FeAre Rttt 5 uee [sten?

wft SRR Foft 72U 5 amr ey 7
v} TR A ST H e 5 < T 2
Q) i Tt fhat dead 5 9 fawey ¥ 2
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(8)

16. Fi e coordinates of the point which gjy; des the line segment joining the points 2
- 4, —3) and (8, 5) in the ratio 3 : ] internally,

@, -3) 9% (8, 5) g M@ @vrveF 3.1 WWWWW AT ey

Efll
(4, -3) 93 (8, 5) g rewdh @W@WS:]WWWWWW
fafa s

(4, —3) 3T (8, 5) T T R s i < 3+ 1 TN T A ey
o fegA i

3a firg % P 0 FTC N G (4, - 3) aiy (g, 5) 1 A TS (EES FI A &9
¥ 3:1 3 A fawfora st &

1(7.&4&}& = }—;— calculate sinA and cotA. (A is an acute angle.) 2

ﬂﬁsecA:%,sinAWcotAﬁ‘fHﬁTl (A @bt SPEE)

Tt secA = 1;, sinA 93¢ cotA fAdfT T (A 93T STAFIT)

12
HfE secA = g,smmﬂcomﬁ’rﬂz@r (A 3T 978 @ @)

afe secA = %, '@fﬁsmAaﬂTcotAaﬁlmqmﬁm|(A@W%)

yﬁﬂmlliate/m?{ Frefey it/ foefy cat/wr fg1/ AT Fpier 2
5cos® 60° + 4sec? 30° — tan 45°
sinZ 30° + sin’ 60°
[ Contd.
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o find the valu
m 1A =cosec (A —20°) find ©OFA. (4A is an acute angle) 2

T sec 4A =cosec (A—Qoo)f AT Fef 9 (4A @by STWTHIT)

M sec 4A = cosec (A-20°). A - T Frcfy FET (4A 933 THIT)
"ﬂ'ﬁsec4A:cosec(A—20°):Aﬁmﬁ§=” (4A 31 998 @' a')
'Qﬁ«’sec4A=cosec(A—20Q)r3ﬁ(4A@qﬁm) 2, & A w1 WF 7@ FAfT)

20. ve that/ g 47 7@/ oM ¥ CT/ BRI e fe/ fag =i o 2
(cosech — cc;tli-l)2 = ]—_—Els—a'

1 + cosf

21. card is drawn from a well-shuffled deck of 52 cards. Find the probability of getting. 2
(i) aking of red colour

(i) a spade

GITRTd RgeTrar 52 fiet 491 Qraid STRATSS <[t «fye Bify SfRvsar '
(i) «bf 38T 387 I,

(i) «Of XFAR

oftaTe seifaeT fada 341

SISIE omd v 3 fiftre 52 o @ 9% ST (G @9 AT X
@) 9 AT JHI ST

(i) 9> 2@

sagra seifier fAdT s

S TR TR M 52 T4 faergfe MR 9 R e e

(@) R T T T

(i) T FEHA

TrrafT s g |
52wﬁaﬁaﬂf\mﬁﬂﬁn§mn@ﬁa@mﬁaﬂmm%1ﬁﬂaﬁmﬁmﬂm
Fiferg :

@) o 1 e

(i) TFH BN
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22.

23.

(10)

SECTION-C/“F-WM_WM_WM““W

tove that V7 is irrational.
AW FAT @ V7 Jetfaony |
oI FTAT @ V7 Sty
ERAA @™ fE V7 3 TSty
fag Fifse fF V7 @ sftig gen ¢

State the Division Algorithm for polynomials.

wvide the polynomial p(x) by the polynomial g(x), and find the quotient and the
remainder.

p(x)=x*-5x+6, g(x)=2-x2

e Rerom Tom o Sy a5
p(x) IZMLIF g(x) IZMIONR AV T, HF ST S ST ey 347 1

p(x)=x*-5x+6, g(x)=2-=x2

e feored Tea [N Srery s

p(x) I2MILEE g(x) T2 =1AT SIS FWI 932 ST @ SISTTTY FHof Feat |
p(x)=x4—5x+6, g(x)=2—-1x2

faema-Taierfy grar T famawfet 7a'

p(x) e g(x) formrianall T, SR TR IR T fgq |
p(x)=x%-5x+6, g(x)=2-x2

VR Teifter 7 @2

feror Cerifeen =1 i 0, p(x) 1 g(0) ¥ T AR VT e Srwwe A
p(x)=x'-5z+6, g(x)=2—12
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(11)
9 : '
Wn becomes 17, if 2 is added to both the numerator and the denominator. If 3

[

. 5
3 is added to both the numerator and the denominator, it becomes 5 Find the fraction.

9
mﬁgmmmmmwaﬂ_ozmﬁmﬁm@mml—l@l g &7 W =7

5 .

AT ?rsrasmmwmsmmﬁgﬁm GAeToT fefa w4t |

9
tﬂﬁ'@msmmaaa:aﬁr@ﬁsfﬁamzmﬁwsmeﬁﬁmlﬂﬁmW%’4‘9’

5
Afsfoa % 3 w@rst Fat 59, v’ c e fAefT eari

A TR A T o AR 2 TR e - S % P o

wod pieoquuesse mmm//:dny

Tl 3 TR S SR 2 o A R

o et i 5 of st R 2 s e, A - @ o 1 o s

1 3 Sirg fem =g, 1 7% g B ot #1 a%ﬁﬁmﬂ?rﬁm

25. Solve/ MR I/ LA/ WEAGYR feg/ & HifT : 3

3x2~2V6x +2=0
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26.  Sum of the areas of two SqUAres 1s 468 m2. If the gifference of their p

find the sides of the two squares.

707 asfrsaq #feq amsiee 468 m2 | g% asfra o e TTE AT 24 m, SRI& TR

ATOTHOTE s /el &d1

erimetersis24m 3

50 asfrstar aifag @aws 468 m2 1 afi asfrma of5a afrsTTa AT 24 m | Isfoewg

7f6e aroraita toads facfa s

Iﬂﬂﬁmﬁmﬁﬁm%smhqﬁ:aﬁmﬁmww

24 m, Fees JAf AAwmiE R fog

21 &l 3 Sre 1AM 468 m2 ¥ 1 afs I i) 6 ST 24 m &, A AT B S I

Hifau |
»30

Mordinalea of a point A, where AB is a diameter of a circle whose centre 3
is (2, —3)and Bis (1, 4).

«Bf JTT TPT AB | (FET GART (2.—3) T&F BT FART (1, 4) TG,
L1 Tt ‘h}f

41|

A 9 ¥iq1eE fqofg

PG 08T T AB | @A FAIF (2, —3) 92 B -97 XIF (1, 4) A, A -9F TAE

fadg sEm

Wi SreAfy @l AB 1 el araft e (2, —3) 3B F enafy farmrn
graft foam g1

1, 4) I A T

fiig A % frdwier 91 Fife, & R ABTF T F 2w & fymem g (2, —3) 3, 7o g

B® (1,41

C2-$1-B20-GM
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(13)

28. Find the sum of first 51 terms of I Whose second and third te 14 and 18 3
rms are

qBr AREs efod e W@aﬂ"ﬁﬁmuwlg | ST TSGR oW 5151

ong (qIsiTe qfg F41 |

a3fe s esfsa fadte Wae ool T 9 w714 32 18 | smviea G ey

516 st csiger fFefa st

Wgﬂﬂﬁwyﬁﬁf”mmﬂﬁmwmmaﬁwl gt Smfafy fifa
51 fsRE®R Tremam g |

9 AP & 9um 51 90 F1 A T FI, s gat aiv ey v s 14 a8 ¥

23. Dand Eare points on the sides CA and CB respectively of a triangle ABC right angled 3
!
(21 C. Prove that AF?+BD2=AB2+ DE2.

ABC Wt fage@ £C it | CA 1% CB 9126 TGN D 1% E 701 Rrg | amiet

F4T (T AE2+BD2=AB2+DE2 |

ABC e faGTeE £C oI CA @32 CB Mo D 932 E q¥@r i3 &y

AT AT @ AE2+BD2= AB2+DE2 |

D 3 E 3 ABC @Y e amfy C o &fdft CA o CB 1 wwm st fawd)

HIAM @A & AE2+ BD2= AB2 4+ DE2 |

T TS ABC ST 191 C e 8, 5t ayaref] CA 9f CB W et faig D 3 E e ¥
fag Hifeq f AE2+BD2=AB2+DE2%|

C2-51-B20-GM [ Contd.
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(14)

30. I/Ua(( the arca of the triangle formed by joining the middle points of the sides of the 3

‘__,/’ triamglv whose vertices are (0, - 1), (2, 1) and 0, 3.
Q51 ﬁﬂ'g@ﬁ W fefavia wetes 0, -1), 2, 1) 1% (0, 3) | @Wﬁﬁ 17 fofate
WHSTmTRTT e BRI oo fageite iRty Sfradt |
Qsff fagree Mifry Roafba wmms (o, -1y, 2, 1) 932 @ 3) fageiind a2 feafia
WSS A2 P NN fapsior iy @ 3@
u ettt fufa fa Smemfy amafs fagr o, -1 (1) 3R (0,3) | rET-gamty
STty et R IRt qrea A sEfaami T <g |
st (0, —1), (2, 1) 3R (0, 3) T Ay = wﬁ%mﬂﬁgﬁﬁﬁmﬁﬁﬂﬁﬂm
A FifT

Md the area of the sector of a circle with radius 4 cm and angle 30°. Also, find the 3

f
area of the corresponding major sector. (use w=23.14)

4 o TP TS QB 30° T @B TEER T Fiey | v ot 0
JRTANGA FIfeT Fefy 1 (w=3.14 If #FT)

4 cm TPHGT 43T 0T 30° WA G0 JIFT Fife Fefyy et ofor St T30
et aifr frdfa @ (w=3.14 I 4319)

4 om SGE T Fa AR 300 @ AT IERA Tty fg | e aFR R
Feiafs zeTEta g | (w=3.14 T M)

4 con BT BT U 4 % PrE® 1 AAFE 1A RIS, ety oy 300 %) e €, S
Preaais 1 drree ot A A (=314 F T 3y

C2-S1-B20-GM : [ Contd.
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(15)

4 /9 -

SECTION -D /¥~ R /% - g/ - s

\_32./50&2 the pair of equations by reducing them to a pair of linear equations. 4

o1 SfteRay e et IS I sy it

e ——— R R S e
TR WY @ afy gEeR AR S WAt Ay R |
firet Tl & g ) s wAEOT ® TH 950 7 F T H

1 1
_+_
Ix+y 3x-y

=3
4

1 _ 1
2B3x+y) 2(3x-y)

Ve areas of two similar triangles are equal, prove that they are congruent.
Rrge 31T 1A (A, 4 3t (g frge g0t SO |

ot 7T

el
8

ot s FIgTSm FIRT T @1, ofme) ar 3, gt 41 o

mmmmmﬁmmm,ﬁmwﬁmmm
A

ﬂﬁﬁwﬁﬂﬁ#ﬁmmﬁﬁ,mﬁmﬁqaﬁgﬁmﬁfl

' C2-§1-B20-GM [ Contd.
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(16
) 40 m longer when the 4

be _
34~ The shadow of a tower standing on a level ground is foundt:: Lower- (Take V3=1.732)
Sun’s aititude is 30° than when it is 60°. Find the height of
60° T’ (71 g
g5 @9 ) 1
G AT eﬁa—oﬁﬂ&%mﬁwzéﬁwﬁ@ﬁ( 1t

Baet z@, $59 (@19 30° T BI00F 40 m @fy G B
(V3=1.732 fer 4fdi)

600’_{(?[%_%‘3],
wgﬁmmemﬁtﬁmwmﬁmwmwmgzml
B89 I 30° T O (T 40 m W AN 7| aeleA OB /
7

(V3=1.732 I 433)
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MA all the sides of a parallelogram touch a circle, show that the parallelogramis a rhombus. 4
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: o IVen
Mﬁuﬂ a triangle similar 1 2 BIVEN triangle ABC with its sides equal to % of the 4

- A ,
corresponding sides of the riangle ABC. (Wrige the steps of construction.)

%

aﬁtﬁﬁ%ﬁwABCaWWﬂﬁ%WmmﬁTmmwABcﬁwﬁw

Wﬁwgaﬂml(‘mwm%ﬁﬁﬁ)

@ﬁﬁﬁ@@gﬁ%c-aaﬂw:ﬂmﬁﬁ%—w SEFN FE TS 97 BT ABC

fagoifor S~ IRBTER g ST T T (e siEma G9w)

T i saiferem ABC i e T sifed e AN STEf-are STfe e 4 SR

ABC r@if-aamfy 9@ smraf-aeRfA g wf | (3fETE STTerE! fer 1)

wﬁqwﬁﬁaABc#w@ﬁmaﬁmaﬂﬁqﬁmﬁﬁﬁﬁwwcaﬁm
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SECTION - E /& - "1 /g --Tm/g.-,mﬂ'ﬁfg’"m

where a

37. Fipd the area of the shaded region i i
Cglon in the figure helow, gle OAB of side 12 cm as

cm has been drawn with vertex O of an equilateral trian
centre,

Ay

oot fhae sRifts SBAGR F1f fidy 58 1'G 12 cm A Q61 FHAZ fapEE
TR O & (@5 FHNt 413 6 em TR Wy g8 1ot ST TR

ﬁﬁ@mmWﬁfﬁaﬁ%ﬁ@mecmmﬂﬁmm
TRy 0 & @9 IR 41 6 cm TPIET @ 8 1 ST TR

mﬁmﬁuﬁmmﬁﬁﬁaﬂsﬁfq@ﬁmucmmﬁﬁmmﬁamﬁq
srE-aumty fafaft fo O 6t fire framd o 6 om @ EEAT AR SEAR SR AfE
R |

Ffa A owifed WM F1 AARA Fd BTG, Fel Yo 12 cm T Th G S OAB & e
O ! g "M X 6 cm 50 o167 U geftw < @it mn R

OR /%31 / &4 /WA / 3remy
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circular arc of radius 5
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A toy is in the form of a cone of radius 35 ., mounted on a hemisphere of same 5§

radius. The total height of the toy i5 15.5 em. Find the total surface area of the toy.
AB1 ST Qe AT 9B FHTTH gt 3.5 cm TFTHTE QB MegeE oo |
TG g5 Soool e 155 cm | TOTER g5 spbapifer ety 3 |

Q35 el @3], YT 9 TN 9oz 3.5 cm wPIyE @l F A
Moet cueAIia b Twool A 155 cm | (xemfn iy sjdatfer fcfr et
TR Gl 3.5 con & EEF AR TEEE T W waft W gaE S TR |
Ferent T e 15.5 cm | Goe T forg Tsmty fagm)

% fEc 3.5 cm 0 99 UF W ¥ ER & § S 3@ e e T e W
HRfE 31 58 faeh ® w9l S 155 am ¥ 7w e @ Wyl v g 9
ST |

38. The median of the following data is 525. Find the values of x and y, if the total frequency 5
is 108: .

BT UMW 'S 525 | x HIF y q W9 Sfersdt ufc g5 IreaEer 100 |

fACTTS ST FUWT TET 525 | x 992 y -9 WIF @F I A (b JI9edIFe! 100 2

TS BFTE W FSREmT S 525 1 x 3 y 7 7 fega gfc mé e 100 s

frafafaa siwel 1 wng® 525 §1 Al SRarasl &1 3 100 3, @ x 3R y 1 7A@

Hifau

Class interval |0-100( 100-200(|200-300 | 300-400 | 400-500| 500-600 | 600-700| 700-800800-900 | 900-1000| 800-900 [900-1000
T S
vft St
Tl G
" S
Frequency 2 5 x 12 17 20 y 9 7 4 7 4
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